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Rl s 104 FAL10A T E R E R E,
1. facAs = 4258 y + 3 =0.
2. fRigs 2 AR (2X—4y+5)y +x—-2y+3=0.

3. A4 BRI Yy +2y=4¢€,y(0) =2

4 s Az Y=Y,
1 0 2 2 1 -3

5. ' A=|-1 2 3|,B=|0 4 1| :#FFE(1)A+B,(2AB.
0 1 -1 -1 2 2

6. K RE(% 547) R A h(l) 7 75N E(det A), (2) # % w=iE (A,

7. F1* B &1y 4 2 (Gauss elimination) 2 47 £.35 % 32 (Cramer’srule) £ 71| > 42 ' cfiz,

2X+y—-z=1
X-2y+22=3
-3Xx+y+3z=8
-1 1 2
8. &L A=|3 -1 1|, RH FELAD).
-1 3 4
2 1 2
9. faE L A=|4 -1 -1|e4 jciE (elgen values)fr # fz+ £ (eigen vectors).
0 0 3

10. fs £ 8=[1,1,-21% b=[1,2 3]5(1)p £ (8- b))% 5 (axb).



